IJSLANDER

1313-010-001

19F

N
IJslander BV N
Oude Dijk 10 r®ﬁ \/.'B
8096 RK Oldebroek | The Netherlands SMART FSC
T +31(0)525 633420 | F +31 (0)525 631067 gyl
info@ijslander.com | www.ijslander.com e e

Y,

05-09-2022 / Rev.: A



1313-010-001

~1678

1200

llOll

600

#19F

y

O
|

4678

1h 13,7 M 47x37x12m ~191 kg ~0,14 n? 145 x 70 x 110 cm 85 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



1313-010-001

S21113

Parts List
QTY PART NO DESCRIP.
1 D20039 Robinia
2 LE15901 3x16, PH
1 LE15910 Name tag
12 LE16098 M12x1,25mm nut
12 LE16099 M12x50
2 LE16167 M12 - @32 mm
12 LE16168 M12 - @24 mm
2 LE16220 M12x80
2 LE16556 @42/38mm
1 S21113 Rowfit
1 S21132 Installation frame

S21132

521132

D20039



1313-010-001

009

0

#19F

00G1

4678

G69¢




1313-010-001

LE16167

LE15901

LE15910

521113

0 D20039
Q
© mﬁ@; = Q
O 2
|
LE16099
LE16168
LE16098 o
Parts List
QTY PART NO DESCRIP.
D20039 Robinia

2 [LE15901  [3x16, PH
LE15910 Name tag

12 [LE16098  |M12x1,25mm nut
12 [LE16099  |M12x50

2 [LE16167 |M12-@32mm
12 |LE16168  |M12-@24 mm $21132 | Z
LE16220 | M12x80 ‘
LE16556 | @42/38mm |
$21113  [Rowfit
521132 Installation frame |

* 4 ““NORNA 100g
o) (LE16604)
Lubricating paste

alanN




